Table A.8 (Continued)
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Table A.8 (Continued)

PT Dp Np i in j m tpijm Epij
11 3 1 9 3
2 8 14
3 5 4
12 2 1 10 10
2 7 8
13 4 1 8 5
2 6 2
3 9 11
4 5 6
Table A.9 Data of problem P9
PT Dp Np i in j m tpijm Epij
{(1,2,3),(1,3,4), (1, 4,3),
F | 32 5 1 1 1 3 8 (0.5.5)
2 3 1 5 2
2 6 13
3 9 6
3 4 1 9 4
2 7 1
3 8 3
4 6 9
4 3 1 8 5
2 10 3
3 5 11
5 5 1 10 2
2 7 8
3 8 10
4 5 1
5 6 3
{(2,2,5),(2,3,4),(2,4,2),
F | 53| 9 1 1 1 2 9 (2,5,3), (2,6,4),(2,7,5),
(2,8,2),(2,9,3)}
2 5 1 8 3
2 9 2
3 10 6
4 5 8
5 7 3
3 4 1 6 1
2 7 4
3 5 2
4 9 10
4 2 1 6 11
2 5 9
5 3 1 5 2
2 7 7
3 9 5
6 4 1 6 2
2 5 4
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Table A.9 (Continued)
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Table A.9 (Continued)

PT Dp Np i in j m tpijm Epij
{5, 11, 3), G, 12, 2), (5, 13, 3),
4 | 2 | 1| 4| 9 © 14 20
2 8 5
5 | 1 | 1| 3 | 6 {5, 15, 3), 5, 16, 4), (5, 17, 2)}
6 5 1 9 8
2 8 4
3 5 10
4 10 1
5 6 3
7 3 1 6 7
2 7 10
3 9 1
8 3 1 5 9
2 10 2
3 8 4
9 2 1 7 8
2 6 11
10 2 1 8 12
2 9 7
11 3 1 10 13
2 6 4
3 5 5
12 2 1 5 4
2 10 9
13 3 1 9 13
2 8 3
3 7 6
14 2 1 6 8
2 5 6
15 3 1 5 14
2 9 5
3 8 3
16 4 1 7 2
2 10 9
3 6 5
4 9 1
17 2 1 10 6
2 7 15
Table A.10 Data of problem P10
PT Dp Np i in j m tpijm Epij
{(1,2,4),(1,3,2),(1,4,4),
F 45 5 1 2 1 4 7 (1,5, 3)}
2 5 3
2 4 1 9 14
2 7 7
3 8 6
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Table A.10 (Continued)
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Table A.10 (Continued)

PT Dp np i in j m tpijm Epij
4 2 1 8 12
2 9 5
5 3 1 6 8
2 5 7
3 10 3
T [112 | 7 1 2 1 2 4 {4,2,1),(4,3,4)}
2 6 3
2 1 1 1 9 {(4,4,2),(4,5,5)}
3 4 1 7 4
2 9 3
3 10 | 12
4 5 8
4 2 1 3 11 {(4,6,3),(4,7,3)}
2 9 7
5 5 1 6 5
2 10 3
3 8 8
4 7 10
5 9 6
6 3 1 10 8
2 5 7
3 7 4
7 3 1 8 14
2 9 6
3 5 2
{5,2,1),5,3,2),5,4,2),
C | 53 | 17 1 2 1 4 10 5.5.2)}
2 9 5
2 1 1 1 8 {(5,6,2),(5,7,3),5,8,3)}
3 2 1 2 6 {5,9, 3), (5, 10, 4), (5, 11, 2)}
2 7 3
{(5,12,2), (5,13, 2), (5, 14, 3),
4 2 1 4 11 (5.15. 4)}
2 5 2
5 2 1 3 3 {(5,16,5), (5, 17, 2)}
2 6 4
6 2 1 5 10
2 10 2
7 3 1 6 3
2 9 15
3 8 1
8 3 1 10 8
2 5 2
3 7 5
9 3 1 8 1
2 9 3
3 6 12
10 4 1 7 12
2 10 4
3 8 5
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Table A.10 (Continued)

=

L

£

ol ol ™o — =

A S|e|d+ (3= o~ |m|Glo |

Elw|G|~|o|w|o|~|1v G|r~|o|w©|w0|G|o |||

s il DI o<t | oo | <t o | —

> o~ o~ o~ ™ <t [T o~

S I T I Fo T I Lo Y I A Ty © r~
I IE — — —

j=1

c

i=1

)

—

o

Table A.11 Data of problem P11
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Table A.11 (Continued)

PT Dp Np i in j m tpijm Epij
4 6 7
4 | 1 | 1| 4| 5 {2.6,1),2,7,3)}
5 2 1 7 9
2 10 6
6 | 1 | 1 | 1 | 7 {2.8,2), (29,3}
7 3 1 5 4
2 8 14
3 9 1
8 2 1 10 13
2 5 2
9 3 1 7 3
2 8 1
3 6 11
C | 44 | 12 | 1 | 1 | 1| 1 | 9 {3.2,1),3,3 1), 3 4 1)}
> [ 1 | 1 | 2 | 7 {3.,5,3),3,6,2), (3,7, 4)}
3 | 1 | 1| 3 | 5 {(3.8,3),(3,9,5)]}
4 | 1 | 1 | 4 | 10 | {(310,2) (3 11, 3), (3 12,2}
5 3 1 5 11
2 7 2
3 8 4
6 2 1 6 5
2 10 8
7 4 1 10 3
2 7 13
3 9 1
4 5 5
8 3 1 8 6
2 9 7
3 6 12
9 5 1 6 8
2 8 7
3 7 2
4 10 3
5 9 10
10 2 1 8 15
2 9 3
11 3 1 9 4
2 10 14
3 7 3
12 2 1 7 6
2 5 9
{@.2,1), &3 1), @& 4 1),
c |7 || 1| 1| 1] 4|13 4.5 1
2 | 1 | 1 | 1 | 6 {4.6,5), @ 7,3)}
3 | 1 | 1| 2 | a {(4,8,2),(49,3)}
4 | 1 | 1] 3| 8 {(4,10,5), 4, 11, 2), (4,12, 3)}
5 | 1 | 1 | 4 | 9 {(4,13, 4), (4, 14, 2), (4,15, 2)}
6 5 1 10 1
2 9 3
3 7 8
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Table A.11 (Continued)

PT Dp Np i in j m tpijm Epij

4 5 15

5 8 2
7 3 1 7 4

2 10 12

3 6 5
8 2 1 8 4

2 9 13
9 3 1 10 7

2 5 5

3 7 11
10 5 1 5 11

2 6 4

3 8 5

4 9 8

5 7 1
11 2 1 6 2

2 8 10
12 3 1 7 4

2 10 5

3 8 4
13 4 1 5 4

2 10 6

3 8 4

4 6 3
14 2 1 9 10

2 5 9
15 2 1 6 8

2 7 3

C |u8 | 22 | 1 | 1 | 1| 2 |9 {5.2,1), 5,3 1}

> 11| 3 |5 {6.4,1),5.5, 1), 5,6, 1)}
3 | 1 | 1 | 4 | 8 {5,7,1),5,8 1), (59, 1)}
4 | 1] 1] 1 | 6 {5, 10, 3), 5, 11, 3)}
5 | 1 | 1 | 3 | 10 {(5,12, 4), (5, 13, 2)}
6 | 1 | 1| 2 | 3 {(5,14,3), (5, 15, 2)}
7 [ 1 1| 4 | 6 {5, 16,3), G, 17, 2), (5, 18, 3)}
8 | 1 | 1 | 1 | 5 {5, 19,5, (5, 20, 2)}
o | 1 | 1 | 2 | 7 {(5,21,2), (5,22, 2)}
10 3 1 8 12

2 6 1

3 9 7
11 3 1 7 11

2 10 1

3 5 3
12 4 1 5 13

2 9 5

3 8 2

4 6 3
13 2 1 10 12

2 7 4
14 3 1 6 8
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Table A.11 (Continued)
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Table A.12 Data of problem P12
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Table A.12 (Continued)
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Table A.12 (Continued)

PT Dp Np i in j m tpijm Epij
{4.2,2), % 3,2), 4 4 2),
c o || 1| 1| 1] 2|13 @52
2 | 2 | 1 | 3 | 10 {4,6,2),(7,3), (4 8,2}
2 9 4
3 | 2 | 1| 4 | 5 {@.9,3), 4,10, 5)}
2 10 5
4 | 2 | 1 | 2 | a {4, 11, 4), (4,12,3)}
2 5 6
{413, 2), 4, 14, 3), (4, 15, 2),
5 | 2 | 1| 1|1 (4, 16,9}
2 7 4
6 2 1 10 9
2 6 10
7 3 1 5 11
2 8 9
3 9 1
8 2 1 7 2
2 10 8
9 3 1 7 14
2 6 3
3 9 6
10 5 1 8 5
2 6 7
3 9 4
4 5 8
5 10 1
11 4 1 5 1
2 9 3
3 10 15
4 7 4
12 3 1 9 7
2 6 8
3 5 4
13 2 1 10 5
2 8 7
14 3 1 10 5
2 9 13
3 5 2
15 2 1 8 1
2 7 12
16 3 1 6 10
2 10 4
3 5 6
C |u8 | 20 | 1 | 2 | 1 | 2 | 11 {5.2,1), 5,3, 2)}
2 5 4
2 | 1 | 1 | 3 | 10 {6.4,1),5,51),5,6 1}
3 | 2 | 1 | 4 | 8 {5.,7,1), 5 8, 1)}
2 8 5
4 | 1 | 1 | 1 | 3 {65.9,3), 6,10, )}
5 | 1 | 1 | 4 | 8 {5, 11, 2), (5, 12,5)}

149




Table A.12 (Continued)

=
{(5, 13, 3),')(]5, 14,2)}
{5, 15,2), (5,16, 2), (5, 17, 3)}

{(5,18,2), (5,19,4), (5,20, 3)}
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Table A.13 Data of problem P13
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Table A.13 (Continued)
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Table A.13 (Continued)
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Table A.13 (Continued)

PT Dp Np i in j m tpijm Epij
7 5 1 10 9
2 6 5
3 8 8
4 5 6
5 9 4
8 3 1 10 2
2 7 11
3 5 7
9 3 1 7 3
2 8 7
3 6 10
T |122 | 12 | 1 | T | 1 | 1 | 10 {6.,2,1), 6, 3,3)}
> T 1 | 1] 2 | 5 £6,4,1), (6,5, 3)}
3 3 1 9 1
2 10 2
3 5 13
4 1 1 3 8 {(6.6,1), (6.7, 5)}
5 3 1 6 5
2 9 14
3 7 3
6 | 1 | 1 | 4 | 7 {6.8.1),(6.9,2)}
7 5 1 10 11
2 5 8
3 7 9
4 9 4
5 8 6
8 | 1 | 1| 1 | 6 {6, 10, 3), (6, 11, 4)}
9 2 1 6 15
2 5 9
10 3 1 7 5
2 8 11
3 10 1
11 4 1 5 3
2 7 5
3 6 4
4 9 7
C |57 | 27 | 1 | 1| 1] 4 |12 {7,2,1),7,3, 1), 7, 4 1)}
2 | 1 | 1| 2 | s {(7.,5,1), (7,6, 1)}
3 | 1 | 1] 3 | 8 {7.7.1), (7,8 1)}
4 | 1 | 1 | 1| 7 {(7,9,1), (7,10, 1), (7, 11, 1)}
5 | 1| 1| 2 |5 {7, 12, 2), (7, 13, 3)}
6 | 1 | 1 | 4 | 8 {(7,14,3), (7, 15, 4), (7, 16, 2)}
7 | 1 | 1 | 1 | & {(7,17,2), (7, 18,3)}
8 | 1| 1| 3 | 6 £(7,19,3), (7, 20, 4)}
9 | 1 | 1 | 3 | 3 {(7,21,2), (7, 22, 2)}
0| 1 | 1| 4 | 5 {(7,23,2), (7, 24, 3)}
1| 1 | 1| 1 | 7 {(7,25,2), (7, 26, 3), (7, 27, 2)}
12 2 1 6 10
2 8 6
13 3 1 10 8
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Table A.13 (Continued)

=
L
£
Sl |Nlon w4 ~ S Slm o] © =t oo N[ ™ Te} — |9 ™ o~
o5
o o o o o

= o |0 ~|co S o ® |G |o|w© o S ~|©|w © © Q|~ S o
—N [ | — |y — — A || — ™ — || — — |- — —
> ™ < o~ o~ ™ ™ < o~ o~ o~ ™ o~ ™ o~
— < Lo © ~ © o o — N ™ < Lo © ~

- = - — - — I3Y N N ~ 3N N N o~
[=1)
c
Qlf
o
T
[a

Table A.14 Data of problem P14

Exij
{(1,2,2),(L,3,4), (L, 4, 3)}
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Table A.14 (Continued)
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Table A.14 (Continued)
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Table A.14 (Continued)

PT Dp Np i in j m tpijm Epij
8 3 1 5 7
2 9 2
3 8 13
9 4 1 9 2
2 10 12
3 6 6
4 7 5
T 122 | 12 | T | = | 1| 2 | 9 {6.2,2), (6,3, 4}
2 | 2 | 1| 4 | 11 {6,4,1),(6,5,2)}
2 9 8
3 4 1 8 6
2 7 12
3 10 5
4 5 9
4 1 1 1 10 {(6,6,2),(6,7,4)}
5 2 1 7 9
2 6 4
6 | 2 | 1 | 3 | 6 {6.8.1), 6,9, 5}
2 5 11
7 4 1 10 2
2 6 7
3 9 3
4 5 10
8 | 1 | 1| 2 | 5 {6, 10, 3), (6, 11, 3)}
9 5 1 5 4
2 9 5
3 8 3
4 6 11
5 10 3
10 3 1 9 7
2 10 5
3 7 4
11 3 1 6 9
2 8 1
3 9 2
C | 126 | 31 | 1 | 1 | 1| 4 | 12 {(7.2,2),(7.3,2), (7, 4 2)}
2 | 2 | 1| 1 | 9 {(7,5,1),(7,6,1), (7,7, 1)}
2 7 8
3 | 2 | 1 | 38 | 7 {7,8,1), (7,9, 1), (7, 10, 1)}
2 9 5
4 | 2 | 1 | 2 | 10 | {1, 1), (7,12 1), (7,13, 1)}
2 10 6
5 | 1 | 1| 4 | 3 {(7,14,2), (7, 15,5)}
6 | 1 | 1 | 1 | 5 {(7,16, 3), (7, 17, 4)}
7 1 1| 3 |9 {(7,18,3), (7, 19, 3)}
8 | 1 | 1 | 2 | 4 {(7,20,2), (7, 21, 2)}
9 | 1 | 1 | 4 | 6 {(7,22,3), (7, 23, 4)}
0] 1| 1] 3| 8 {(7,24,2), (7,25, 3)}
11| 1 | 1| 1 | 10 {(7,26,5), (7, 27,2)}
2 1] 1] 2|5 {(7,28,3), (7, 29, 4)}
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Table A.14 (Continued)
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{(7, 30, 2), (7, 31, 3)}
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Table A.14 (Continued)

PT Dp Np i in j m tpijm Epij
4 8 12
30 2 1 10 5
2 9 9
31 3 1 6 3
2 5 7
3 8 2
Table A.15 Data of problem P15
PT Dp Np i in j m tpijm Epij
{@,2,3), (1, 3,4), (1, 4, 3),
Fles | 7 | 1| 1|1 1|5 (5.5, 6.4).0.7 2
2 3 1 8 5
2 5 8
3 6 3
3 4 1 6 8
2 10 7
3 9 6
4 5 2
4 3 1 9 5
2 7 2
3 8 9
5 5 1 6 2
2 7 13
3 8 1
4 5 4
5 10 7
6 4 1 5 3
2 6 7
3 10 6
4 9 2
7 2 1 7 11
2 5 5
{2.2,5), (2 3,4), 2, 4,3),
2,5,4), (2,6,2), 2,7,2), 2, 8,3),
Fles |12 1| 1| 1| 2|15 5.0 4. (10,5 (211, 3)
(2,12, 2)}
2 5 1 9 7
2 7 2
3 10 14
4 6 3
5 8 2
3 4 1 7 7
2 6 4
3 9 1
4 5 13
4 3 1 6 2
2 5 9
3 9 1
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Table A.15 (Continued)
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Table A.15 (Continued)

PT Dp Np i in j m tpijm Epij
5 5 1 10 7
2 9 5
3 7 2
4 8 6
5 6 10
6 | 1 | 1| 2 | 2 {4.8,2),(4.9,2)}
7 3 1 5 1
2 8 13
3 6 5
8 | 2 | 1 | 3 | 8 {(4,10, 4), (4, 11,2)}
2 10 3
9 2 1 9 5
2 7 4
10 4 1 6 1
2 9 2
3 8 6
4 10 15
11 2 1 7 7
2 5 14
C | 78 | 12| 1 | 1 | 1| 3 | 8 {5.2,2),5,3,2), (5 4 2)}
> T 2 | 1| 4 | 7 {5.5,5), 5. 6, 2)}
2 10 3
3 | 2 | 1 | 1 | 10 {6.7.3).5.8,4), (5,9, 2)}
2 6 2
4 | 2 | 1] 2 | 6 {(5,10,2), 5, 11, 5), (5,12, 2)}
2 8 5
5 5 1 6 6
2 5 4
3 9 11
4 10 6
5 8 7
6 2 1 7 10
2 5 3
7 3 1 10 8
2 8 3
3 6 12
8 4 1 5 10
2 6 1
3 8 13
4 10 2
9 2 1 6 5
2 9 1
10 2 1 10 11
2 7 5
11 5 1 8 15
2 7 3
3 10 8
4 9 2
5 6 4
12 2 1 9 8
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Table A.15 (Continued)

PT Dp Np i in j m tpijm Epij
2 5 14
C |9 | 14| 1 | 2 | 1| 1 |9 {6,2,1),6,3, 1), (6, 4 1)}
2 8 4
> [ 1 | 1 | 2 | 8 {(6.5.2),(6.6,5). (6,7, 3)}
3 | 1| 1 | 3 | 10 {6.8.3), 6,9, 4), 6, 10, 2)}
{6, 11, 4), (6, 12, 3), (6, 13, 2),
4 | 1| 1] 4| 6 614 2))
5 2 1 9 10
2 5 4
6 5 1 5 7
2 10 3
3 7 1
4 8 5
5 9 2
7 3 1 10 6
2 7 12
3 6 3
8 3 1 6 15
2 9 4
3 8 1
9 4 1 5 10
2 7 3
3 10 8
4 6 2
10 2 1 8 4
2 5 10
11 4 1 7 9
2 10 2
3 8 14
4 7 4
12 3 1 5 9
2 9 3
3 10 1
13 2 1 8 7
2 9 11
14 2 1 10 13
7 8
C |59 | 2 | 1| 1| 1] 1] 8 {7.2,2),(7,3,2)}
{7 4,1),(7,5 1), 7,6 1),
2 | 2 | 1| 2 |1 AR
2 10 4
3 | 2 | 1| 4 | 5 {7,8,1),(7,9 1)}
2 6 3
4 | 1 | 1 | 3| 3 {(7,10,2), (7, 11, 3)}
5 | 1 | 1 | 4 | 5 (7,12, 4), (7, 13, 2)}
6 | 1 | 1| 2 | 5 {7, 14, 3), (7, 15, 3)}
7 | 1 | 1 | 1 | 7 {(7,16,5), (7, 17, 2)}
8 | 1 | 1 | 3 | 6 {(7,18,2), (7, 19, 4)}
9 | 1 | 1 | 2 | 10 | {(7,20,2),(7,21,2),(7,22,3)}
10 2 1 5 7
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Table A.15 (Continued)
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Table A.16 Data of problem P16
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Table A.16 (Continued)
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Table A.16 (Continued)
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Table A.16 (Continued)

PT Dp Np i in j m tpijm Epij
2 10 13
11 2 1 6 8
2 9 2
C | 9% | 13| 1 | 2 | T | 4 | 12 {6.2,1),(53,2), (5 4 1)}
2 10 3
{(5,5,3),(5,6,4),(5,7,2),
2 1 1 1 9 5.8, 3)}
3 2 | 1] 2 | 3 {5.9,2), 6,10, 5)}
2 6 4
4 | 1 | 1| 3 | 7 {5, 11, 3), 5, 12, 2), (5, 13, &)}
5 3 1 9 13
2 6 4
3 10 1
6 4 1 5 4
2 6 3
3 8 2
4 7 12
7 2 1 8 9
2 10 4
8 3 1 7 11
2 6 2
3 5 6
9 2 1 6 15
2 9 5
10 5 1 10 1
2 9 7
3 8 3
4 5 10
5 7 5
11 3 1 9 3
2 8 14
3 5 4
12 2 1 10 10
2 7 8
13 4 1 8 5
2 6 2
3 9 11
4 5 6
C |6 | 16| 1 | 1 | 1| 3 | 10 {621631),641), 651}
2 1 1 4 5 {(6,6,2),(6,7,3)}
3 ] 1 ] 1] 1| 9 {6.8.3), 6,9, 2), (6, 10, 4)}
16,11, 2), (6, 12, 3), (6, 13, 3),
4 | 1| 1| 2 | 7 6 14,2}
5 | 1 | 1 | 3 | 4 {6, 15,5), (6, 16, 2)}
6 2 1 9 14
2 5 3
7 3 1 10 3
2 8 1
3 7 10
8 3 1 7 2
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Table A.16 (Continued)

PT Dp Np i in j m tpijm Epij
2 9 5
3 6 10
9 2 1 8 15
2 5 3
10 4 1 9 2
2 5 11
3 8 7
4 10 4
11 2 1 10 6
6 12
12 3 1 7 13
9 1
5 4
13 3 1 10 5
2 6 13
3 9 3
14 4 1 8 1
2 5 13
3 10 4
4 7 2
15 5 1 5 3
2 9 7
3 10 2
4 8 9
5 6 8
16 2 1 6 8
2 7 1
C |59 | 20 | 1 | 2 | T | 2 | 11 {7.2,1),(7,3,2)}
2 5 4
2 1 1 3 10 {(7,4,1),(7,5,1), (7,6, 1)}
3 2 1 4 8 {@.7.1), (7.8 1)}
2 8 5
4 | 1 | 1| 1 | 3 {(7.9,3), (7, 10, &)}
5 | 1 | 1| 4 | 8 {(7,11,2), (7, 12,5)}
6 1 1 3 5 {(7,13,3), (7, 14,2)}
7 1 1 2 9 {(7, 15, 2), (7,16, 2), (7, 17, 3)}
8 1 1 3 4 {(7,18, 2), (7,19,4), (7, 20, 3)}
9 3 1 5 3
2 7 6
3 8 4
10 4 1 6 8
2 10 2
3 5 2
4 9 10
11 2 1 10 2
2 6 12
12 5 1 9 1
2 5 10
3 6 3
4 7 8
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Table A.16 (Continued)

PT Dp Np i in j m tpijm Epij
5 8 4
13 3 1 8 15
2 10 2
3 5 1
14 2 1 6 9
2 9 8
15 2 1 7 15
2 8 3
16 2 1 5 2
2 9 14
17 3 1 10 3
2 6 13
3 8 5
18 2 1 5 4
2 9 10
19 4 1 6 7
2 8 2
3 5 11
4 10 6
20 3 1 9 5
2 10 14
3 6 1
Table A.17 Data of problem P17
PT Dp Np i in j m tpijm Epij
{(1,2,5),(1,3,3),(1,4,2),(1,5,
F 35 6 1 1 1 5 12 3), (1, 6, 4)}
2 5 1 8 4
2 13 2
3 11 8
4 14 3
5 10 3
3 3 1 11 5
2 13 13
3 12 1
4 2 1 7 15
2 15 2
5 3 1 10 8
2 13 11
3 12 2
6 4 1 12 6
2 15 9
3 14 5
4 9 3
T |60 | 5 | 1 | 1 | 1] 1|5 {2,2,1),2,3,4)}
2 | 1 | 1| 2 | 7 {(2,4,5),(2,5,3)}
3 4 1 7 11
2 11 3
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Table A.17 (Continued)

PT

in m tpijm

Epij

14
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5

{(3,2,1),(3,3,4)}

9

6

{(33,4,3).3,5,2)}
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7

15
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3

{(4,2,2),(4,3,3)}

11
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{(4,6,2),(4,7,4)}
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Table A.17 (Continued)

PT

Jyi

toijm

Epij

3

4

(|3

12

13

5

4

13

10

7

12

5

11

10

15

[N
[N

10

11

11

14

12

12

13

13

12

10

15

14

13

14

15

NIFRINRFPRARWINFP(WIN RN PO R WINFRPIWIN R[NP WIN| =

11

wlwlo|Blwl~o|ssla| s BNk oo~

Table A.18 Data of problem P18

PT
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m

toijm
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34
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Table A.18 (Continued)
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Table A.18 (Continued)

PT Dp Np i in j m tpijm Epij
{6.2,2).65 3,2, 6,4 2),
c |72 | 1| 1] 1] 2| 13 5.2
> [ 2 | 1 | 3 | 10 {5.6.2).5.7,3), 5.8, 2)}
2 15 4
3 | 2 | 1| 4 | 5 {5.9,3), 6,10, 5)}
2 9 5
4 | 2 | 1| 5 | 4 {5, 11, 4), (5, 12,3)}
2 7 6
{6.13,2), 6, 14,3), (5, 15, 2),
5 | 2| 1|6 | 11 & 16 0
2 13 4
6 2 1 10 9
2 12 10
7 3 1 15 11
2 13 9
3 9 1
8 2 1 8 2
2 7 8
9 3 1 9 14
2 15 3
3 13 6
10 5 1 7 5
2 8 7
3 12 4
4 14 8
5 11 1
11 4 1 13 1
2 12 3
3 14 15
4 10 4
12 3 1 8 7
2 9 8
3 11 4
13 2 1 13 5
2 10 7
14 3 1 12 5
2 7 13
3 14 2
15 2 1 14 1
2 8 12
16 3 1 11 10
2 9 4
3 15 6
Table A.19 Data of problem P19
p PT Dp Np i in j m tpijm Epij
1 | F |62 ] 4 | 1| 1] 1] 13 {1,2,3),(1,3,4), (L, 453
2 3 1 11 5




Table A.19 (Continued)
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3

{(2,2,3),(2,3,4),(2,4,3),
(2,5,5),(2,6,4), (2,7, 2)}
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{(3,6,3),(3,7,2)}

13

11

8

12

7

8

14

RPIWIN R WIN PR OIRIWIN PPN PR WOINFRP(OBRWINFRP(WIN PR IWINFRPWINFP P (ORWINRP R WIN P WN|—

10

Flelo|ndolk | Blwlwk| s Elw|No|lojloBv o N w | e BN jo|d|ofvjo|N|ojw|o|o| o [ofw| s Rk orofco

173




Table A.19 (Continued)

PT Dp Np i in j m tpijm Epij
2 9 6
T |60 | 9 | L | 1 | 1 | 1 | 9 {4.2,1), @ 3, &)}
2 | 1 | 1| 2 | & {(4,4,1), (&5, 2)}
3 4 1 11 15
2 7 2
3 8 3
4 10 7
4 1 1 3 5 {4.6,1),(4,7,3)}
5 2 1 12 9
2 9 6
6 | 1 | 1 | 4 | 7 {4.8,2), (4,9,3)}
7 3 1 14 4
2 8 14
3 12 1
8 2 1 7 13
2 13 2
9 3 1 10 3
2 11 1
3 15 11
C |u8 | 22 | 1 | 1 | 1 | 6 | 9 {5.2,1), 5,3 1}
> 11| 3 |5 {5.4,1),5,5 1), 5,6 1)}
3 | 1 | 1 | 5 | 8 {5.7,1),(58 1), (59 1)}
4 | 1] 1] 1 | 6 £, 10, 3), (5, 11, 3)}
5 | 1 | 1 | 2 | 10 {(5,12,4), (5,13, 2)}
6 | 1| 1 | 5 | 3 {(5, 14, 3), (5, 15, 2)}
7 [ 1 | 1 | 4 | 6 | {651623),05, 17,2, 18 3}
8 | 1| 1| 3 |5 {5, 19, 5), (5, 20, 2)}
9 | 1 | 1 | 6 | 7 {(5,21,2), (5,22, 2)}
10 3 1 15 12
2 10 1
3 8 7
11 3 1 9 11
2 12 1
3 13 3
12 4 1 7 13
2 14 5
3 9 2
4 11 3
13 2 1 8 12
2 10 4
14 3 1 13 8
2 11 14
3 9 5
15 2 1 10 10
2 7 3
16 3 1 11 8
2 9 4
3 12 13
17 2 1 10 11
2 14 5
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Table A.19 (Continued)
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Table A.20 Data of problem P20
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Table A.20 (Continued)

PT Dp np i in j m tpijm Epij
3 11 7
4 7 8
5 10 3
T | 51 7 1 1 1 6 10 {B,2,2),(3,3,3)}
2 2 1 1 7 {B,4,2), (3,5 2)}
2 12 4
3 3 1 15 8
2 10 9
3 8 2
4 2 1 2 6 {(3,6,4),(3,7,3)}
2 15 5
5 2 1 14 | 11
2 7 3
6 4 1 10 2
2 14 | 12
3 11 1
4 8 4
7 3 1 13 7
2 7 8
3 9 3
T [ 101 ] 9 1 1 1 2 12 {(4,2,2),(4,3,3)}
2 2 1 4 5 {(4,4,2), (4,5 2)}
2 14 7
3 3 1 11 4
2 7 9
3 12 1
4 2 1 6 9 {(4,6,2),(4,7,3)}
2 8 2
5 2 1 13 | 10
2 15 5
6 2 1 3 4 {(4,8,3),(4,9,4)}
2 13 3
7 3 1 10 | 15
2 8 6
3 11 1
8 3 1 10 7
2 9 2
3 14 | 13
9 4 1 13 2
2 7 12
3 12 6
4 13 5
{5,2,1), 5,3, 2), 5, 4,2),
c | 106 | 17 1 2 1 4 10 5.5 2}
2 8 5
2 1 1 5 8 {(5,6,2),(5,7,3),5,8,3)}
3 2 1 6 6 {5,9, 3), (5, 10, 4), (5, 11, 2)}
2 7 3
{(5,12,2), (5,13, 2), (5, 14, 3),
4 2 1 1 11 (5. 15, 4)}
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Table A.20 (Continued)

PT

Jyi

m

toijm

Epij

9

2

2

2

3

{(5,16,5), (5,17, 2)}

14

4

15

[En
o

12

10

7

9

11

8

14

7

15

10

10

13

14

12

11

11

9

8

12

8

7

13

12

15

14

14

10

13

15

15

9

12

11

16

7

15

8

11

12

17

10

NFROIRWINFRP|ARWINFRPIWIN RPN EFRINFPINRFP[RWINFPIWINFRPWIN P WIN PN EFEIN PN [—

9

= = B NS (e =
wlojo|Blwl~N|vk | B o|lwlo| 55K aRlo|Rrlo|sRIK|w||or| o -G w|r

Table A.21 Data of problem P21
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Table A.21 (Continued)
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{3,2,1),(3,3,1),33,4, 1)}

{(3,5,3),(3,6,2), (3,7, 4}

{3.8,3),(3,9,5)}

{(3,10,2),(3,11,3),(3,12, 2)}
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Table A.21 (Continued)

PT Dp Np i in j m tpijm Epij
2 12 3
11 3 1 7 4
2 15 14
3 9 3
12 2 1 10 6
2 14 9
C 78 12 1 1 1 3 8 {(4,2,2),(4,3,2),(4,4,2)}
2 2 1 5 7 {(4,5,5), (4,6,2)}
2 9 3
3 2 1 6 10 {@4,7,3),(4,8,4),(4,9,2)}
2 12 2
4 | 2 | 1| 2 | 6 {(4,10,2), &, 11, 5), (4,12, 2)}
2 7 5
5 5 1 11 6
2 9 4
3 15 11
4 7 6
5 14 7
6 2 1 12 10
2 10 3
7 3 1 7 8
2 14 3
3 13 12
8 4 1 8 10
2 12 1
3 9 13
4 11 2
9 2 1 15 5
2 10 1
10 2 1 14 11
2 12 5
11 5 1 10 15
2 13 3
3 15 8
4 11 2
5 8 4
12 2 1 9 8
2 7 14
C 48 14 1 2 1 4 9 {5,2,1),(5,3,1), 5,4, 1)}
2 10 4
2 1 1 6 8 {(5,5,2),(5,6,5), (5,7,3)}
3 | 1] 1 | 5 | 10 {65.8.3), 5,9, 4), 5, 10, 2)}
{5, 11, 4), (5, 12, 3), (5, 13, 2),
4 1 1 1 6 (5,14, 2)}
5 2 1 7 10
2 8 4
6 5 1 14 7
2 7 3
3 9 1
4 13 5

179




Table A.21 (Continued)

PT

Jyi

m

toijm

Epij

12

2

3

15

6

10

12

11

3

8

[EY
a1

14

10

12

11

12

7

10

9

15

11

11

7

9

8

12

13

12

9

13

10

15

14

RPINFPWINFRPRARWINEFPINRFP R WINRFRPWIN P WIN POl

14

13

I = = =
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Table A.22 Data of problem P22

PT

e

m

toijm

Exij

68

2

4

7

{(1,2,4),(1,3,2),(1,4,4),
(1,5,3)}

15

3

11

[E
~

8

7

13

13

10

7

15

12

8

14

9

11

56

2

{(2,2,1),(2,3,4)}

12

N

[EE

4

{(2,4,2),(2,5,5)}

14

NIFRPIRFRPNRFPWNEFRPRWNEFRIN P RWINEFPIN P =

9

wih|o|lw|~[N|o|o|~Elon| s Heolo|~
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Table A.22 (Continued)

PT

I

m

toijm

Epij

7

12

10

8

6

11

{(2,6,3),(2,7,3)}

9

15

10

13

7

11

8

13

11

96

12

{3,2,1),(3,3,1),(3,4, 1)}

{(3,5,3),(3,6,4)}

{3,7,3),.(3,8,3)}

{(3,9,2), (3,10, 2),(3,11,4),
(3,12, 5)}

gl b | WIN|F-

w| P PRk

10

11

12

72

13

{@4,2,1),(4,3,2),(4,4,1)}

PN FRPORWINRPRWNEFRINEPIN P WINFPWIN PP WINFPWN P P RPIPIPWINEFRPIWINFP O WINRFRPIN P A

© |w|BlwlGIN s o sk IRIw|Bla R BloBlw BN o BlolkNe|w N [ojo|Kvo|R] & ~N|o|o| 5| w|o|~

{(4,5,3),(4,6,4),(4,7,2),
(4,8,3)}
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Table A.22 (Continued)

PT Dp Np i in j m tpijm Epij
3 | 2 | 1 | 5 | 3 {.9,2), (4,10, 5)}
2 7 4
4 | 1 | 1| 2 | 7 {411, 3), 4, 12, 2), (4,13, 4)}
5 3 1 7 13
2 14 4
3 11 1
6 4 1 8 4
2 12 3
3 9 2
4 10 12
7 2 1 14 9
2 9 4
8 3 1 13 11
2 8 2
3 15 6
9 2 1 9 15
2 8 5
10 5 1 15 1
2 10 7
3 14 3
4 12 10
5 7 5
11 3 1 9 3
2 8 14
3 13 4
12 2 1 11 10
2 15 8
13 4 1 10 5
2 7 2
3 14 11
4 12 6
C |59 | 20| 1| 2 | 1] 6 | 11 {5.2.1).5.3 2}
2 13 4
> [ 1 | 1 | 1 | 10 {6.4,1).6.5 1), (5,6, 1)}
3 | 2 | 1| 2 | 8 {5,7,1), 5 8, 1)}
2 7 5
4 | 1 | 1 | 3 | 3 {65.9,3), 6,10, )}
5 | 1 | 1 | 4 | 8 {5, 11, 2), (5, 12,5)}
6 | 1 | 1 | 5 | 5 {(5,13,3), (5, 14, 2)}
7 1 1 | 1 ] 6 | 9 {(5, 15, 2), (5,16, 2), (5, 17, 3)}
8 | 1 | 1 | 1 | & {(5,18,2), 5, 19, 4), (5, 20, 3)}
9 3 1 7 3
2 10 6
3 8 4
10 4 1 15 8
2 14 2
3 11 2
4 13 10
11 2 1 10 2
2 7 12
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Table A.22 (Continued)

PT

I

m

toijm

Epij

12

5

8

1

12

10

14

11

15

13

9

13

12

14

11

14

15

13

9

16

14

8

17

7

10

11

18

9

15

19

10

7

14

12

20

8

11
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Table A.23 Data of problem P23

PT

Jyi

m

—
2.
3

E,i

=T

31

1

1

{@,2,3), (1, 3,14), (1,4,5}

3

11

8

12

12

7

15

10

13

9

15

11

g a|w|NR| A wN R w ke

14

o w| AN E(R|laN o5 ao|wE

53

[EE

5

©

{(2,2,5), (2,3,4),(2,4,2),
(2,5,3),(2,6,4),(2,7,5),
(2,8,2),(2,9,3)}

[EE

10

w

N

7

N

11
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Table A.23 (Continued)

PT

I

m

toijm

Epij

13

14

14

8

9

10

9

7

13

8

12

7

9

15

8

8

14

11

7

10

15

9

7

12

WINIFPIN P OHRIWINFP[RWINRFRPIWINFRPINRFPRWIN PO

11

= = N
g~jolHk|olo|w|~ k| B | o| || o|B B | & | w| o

76

13

[EE

[N
[N

{(3,2,3), (3,3, 4), (3 4 3),
(3,5,2), (3,6,2),3,7,3), (3,8,5),
(3,9,3), (3, 10, 4), (3, 11, 2),
(3,12,2), (3,13, 5)}

13

10

11

14

10

14

15

12

10

11

14

13

10

12

ARIWOINFRPWINFPINEFPINFPIWIN P[RR WINFPIWIN -

15

= ElolPl ool Bl rol =
olr|lo|u|Rlw|r|w|KIN R o RN B A o|w|o(wls
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Table A.23 (Continued)

PT

I

m

toijm

Epij

8

3

14

8

7

10

12

11

10

14

11

9

15

12

14

8

13

7

15

14

9

13

37

3

N

[EE

4

15

8

7

13

10

[EE

5

{(4,6,3),(4,7,2)}

13

11

8

12

7

8

14

10

9

78

3

165,2,2),(5,3,3)}

11

{(5,4,1),(5,5,3)}

{(5,6,2),(5,7,4)}

B P
Sl |o|B|~|~|o
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15
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Table A.23 (Continued)

PT Dp Np i in j m tpijm Epij
4 11 4
T (150 9 | 1 | 2 | 1 | 3 | 12 {6,2,1), 6,3, 2)}
2 15 4
2 | 1 | 1 | 4 | 9 {6.4,2),(6.5.3)}
3 2 1 11 7
2 8 9
4 [ 2 | 1| 5 | 13 {6.6,1),(6.7.5)}
2 7 5
5 3 1 7 4
2 10 9
3 13 6
6 | 1 | 1 | 6 | 8 {(6,8,3), (6,9, 3)}
7 5 1 15 9
2 10 5
3 12 8
4 8 6
5 14 4
8 3 1 8 2
2 14 11
3 10 7
9 3 1 9 3
2 11 7
3 13 10
C |61 | 26 | 1 | 2 | 1| 3 | 10 {7.2,1),7,3 1), (7, 4 2)}
2 8 5
2 | 1 | 1 | 4 | 9 {7,5,1), 7,6, 1)}
3 | 1 | 1 | 5 | 6 {(7,.7,2), (7, 8,2)}
4 | 2 | 1] 6 | 5 {(7,9,1), (7,10, 1), (7, 11, 1)}
2 14 4
5 | 1 | 1 | 1 | 7 {(7,12,2), (7, 13, 3), (7, 14, 3)}
6 | 1 | 1 | 2 | 3 {(7, 15, 2), (7, 16, 2)}
7 | 2 | 1| 3 | 5 {(7,17,3), (7, 18, 4)}
2 9 2
8 | 2 | 1 | 6 | 4 {(7,19,2), (7, 20, 3)}
2 13 5
9 | 1 | 1 | 2 | 3 {(7, 21, 3), (7, 22, 3)}
0| 1 | 1| 4 | 5 {(7,23,5), (7, 24, 2)}
1] 1] 1] 5| 6 {(7,25,2), (7, 26, 3)}
12 2 1 9 4
2 13 10
13 3 1 7 1
2 12 11
3 15 2
14 3 1 14 2
2 10 12
3 11 5
15 2 1 8 15
2 14 3
16 2 1 11 10
2 9 1
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Table A.23 (Continued)

PT

I

m

toijm

Epij

17

3

15

2

11

10

8

3

18

13

[N
[N

7

12

10

19

10

7

20

12

9

14

21

14

10

9

22

15

8

12

23

9

8

12

14

7

24

11

13

25

10

15

26

7

14

WINFPIN RPN WINRFPWINFRPIWINRFPWIN RN PR WINFP|WIN| [

11

e e =
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Table A.24 Data of problem P24

\]pi

m

toijm

Exij

34

2

2

{(1,2,2),(1,3,4), (L, 4,3)}

12

2

7

10

4

12

13

8

15

9

11

WINFP|RARWINFRINFP| NP

14

Uglo|o| w|G|r| o~ ro|~

66

[EE

6

oo

{2,2,2),(2,3,5),(2,4,3),
(2,5,3),(2,6,4), (2,7, 2),
(2,8,4),(2,9,5)}

N

14

~
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Table A.24 (Continued)

PT | Dy Np Jyi i m_ | ijm Epij
> [ 1 [ 8 | 13
> 10 | 6
5 | 1 | 12 | 6
> [ 9 | 3
3 | 3 | 10
4 [ 15 | 5
5 | 14 | 3
3 1 | 7 | 13
> 10 | 8
3 [ 9 | 6
3 | 1 | 14 | 11
> 12 | 7
3 [ 11 | 4
4 1 [ 9 | 2
> [ 10 | 13
3 [ 15 | 1
4 [ 12 | 5
> [ 1 | 13 | 15
> [ 8 | 3
a1 | 11| 7
> [ 15 | 14
3 [ 10 | 5
4 [ 13 | 1
5 | 1 | 10 | 3
> T 12 [ 9
3 | 13 | 4
4 [ 9 | 8
5 | 7 | 5
{3.2.5),.3.3.2). 3 43),
3,5,3), (3,6,5), (3, 7,2), (3, 8, 3),
F| 88 | 13 2 | 1| 4|1 | (3,53, g),(s, io,(s), (3,)1(1,3), :
(3,12, 4), (3,13, 4)}
> [ 7 | 3
5 [ 1 | 10 | 1
> 7 | 11
3 | 14 | 6
4 [ 15 | 3
5 | 11 | 7
> [ 1 [ 7 | 9
> [ 13 | 8
3 | 1 | 15 | 4
> [ 9 | 15
3 [ 10 | 8
3 1 | 7 | 3
> 10 | 2
3 [ 15 | 10
5 | 1 | 11 | 5
> [ 9 | 3
3 [ 14 | 4
4 12 | 13
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Table A.24 (Continued)

PT

I

toijm

Epij

1

2

3

12

=
~N| oK@, 3

10

11

12

13

51

{(4,6,4),(4,7,3)}

84

{5,2,1),(5,3,4)}

{(5,4,2),(55,5)}

{(5,6,3),(5,7,3)}
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Table A.24 (Continued)

Dy Np i Jyi i m_ | ijm Epij
5 5 1 15 5
2 10 3
3 13 8
4 7 10
5 11 6
6 3 1 8 8
2 13 7
3 11 4
7 3 1 10 14
2 7 6
3 15 2
B&| 9 | 1 | 1 | 1| 2 | 12 6.2, 2), 6, 3,3)}
2 | 2 | 1| 4 | 5 {(6,4,2), (6,5, 2)}
2 14 7
3 3 1 11 4
2 7 9
3 12 1
4 1 2 1176 |9 {(6.6,2), (6,7, 3)}
2 8 2
5 2 1 13 10
2 15 5
6 | 2 | 1 | 3 | & {(6.8.3), (6,9, &)}
2 13 3
7 3 1 10 15
2 8 6
3 11 1
8 3 1 10 7
2 9 2
3 14 13
9 4 1 13 2
2 7 12
3 12 6
4 13 5
89 | 26 | 1 | 2 | 1 | 4 | 14 {7.2,1),7,3,2), (7, & 1)}
2 13 3
2 | 1 | 1 | 5 | 7 {7,5,1), 7, 6, 2)}
3 | 2 | 1 | 6 | 10 {(7,7,1),(7,8 1)}
2 8 3
4 | 1 | 1| 2 | 9 {(7,9,1), 7, 10, 1), (7, 1L, 1)}
5 | 1 | 1 | 4 | 7 {(7, 12, 4), (7, 13, 2)}
6 | 2 | 1| 2 | 8 {(7,14,2), (7, 15, 3), (7, 16, 3)}
2 7 5
7 | 1] 1| 3 | 3 {(7,17,2), (7, 18, 2)}
8 | 1 | 1 | 5 | 6 {(7,19, 4), (7, 20, 2)}
9 | 1 | 1 | 6 | 5 {(7,21,5), (7, 22, 2)}
0 1 | 1| 1] 7 {(7,23,2), (7, 24, 3)}
1] 1| 1] 3] 3 {(7,25,4), (7, 26, 2)}
12 4 1 9 8
2 13 1
3 12 4
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Table A.24 (Continued)

PT

I

m

toijm

Epij

10

3

13

2

7

12

14

14

8

9

15

15

7

12

16

11

14

13

17

13

10

18

12

15

19

10

13

8

7

20

15

14

21

14

11

10

15

8

22

9

7

23

12

11

24

13

10

9

25

7

11

13

14

26

15
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Table A.25 Data of problem P25

PT

\]pi

m

toijm

Exij

36

1

1

10

{(1,2,5),(1,3,2),(1,4,3),
(1,5,3),(1,6,4),(1,7,2),(1,8,4)}

5

11

1

13

2

10

11

Mw(N(k =

15

3
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Table A.25 (Continued)

PT

I

m

toijm

Epij

12

8

2

13

15

9

12

7

11

15

10

8

14

7

8

15

9

13

7

8

10

AIOINRFPINRFPRWOINRFPWINFPWIN RPN POl

14

olo|wlo|w|Rlwnviw|Blov B o|N|w| -

65

12

[EE

[EY
a1

{(2,2,5), (2,3,4),(2,4,3),
(2,5,4),(2,6,2),(2,7,2),(2,8,3),
(2,9, 4), (2,10,5), (2,11, 3),
(2,12, 2)}

12

13

14

10

13

14

10

13

14

11

15

10

12

15

15

10

12

BAIWINRFRPWINFPIN RPN R WINFP(WIN PR WIN RO RWIN -

11

= Bl ol e = =
Mlolw|Br|oNAKlwR Bl s lojw|k|on Bk s N v wl iR~
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Table A.25 (Continued)

PT Dp Np i in j m tpijm Epij
10 5 1 12 12
2 13 4
3 9 2
4 7 9
5 14 1
11 3 1 15 6
2 8 10
3 10 7
12 2 1 13 11
2 9 9
T |41 | 5 | 1 | 2 | 1 | 5 | 9 {3.2,1), 3,3, &)}
2 9 4
> T 1 | 1] 6 | 6 {3.4,3),(3.5.2)}
3 4 1 13 8
2 8 4
3 14 13
4 10 3
4 3 1 8 5
2 7 14
3 15 1
5 2 1 11 9
2 9 3
T |92 | 12 | 1 | T | 1 | 1 | 10 {42, 1), (43,3}
2 | 1 | 1 | 4 | 5 {(4,4,1), (%5, 3)}
3 3 1 8 1
2 7 2
3 15 13
4 1 1 2 8 {4.6,1),(4.7, 5}
5 3 1 11 5
2 9 14
3 10 3
6 | 1 | 1 | 5 | 7 {4.8,1), 9, 2)}
7 5 1 10 11
2 13 8
3 14 9
4 9 4
5 12 6
8 | 1 | 1 | 3 | 6 {410, 3), (4, 11, &)}
9 2 1 7 15
2 11 9
10 3 1 13 5
2 8 11
3 9 1
11 4 1 15 3
2 7 5
3 12 4
4 14 7
C |66 | 12| 1 | 1 | 1| 1 |9 {5,2,1),5,3 1), (5, 4 1)}
> [ 1 | 1 | 2 | 7 £(5.5,3),(56,2), (5 7, 4)}
3 | 1 | 1] 3| 5 {(.8,3), (59, 5)}
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Table A.25 (Continued)

PT

I

toijm

Epij

1

10

{(5,10,2), (5,11, 3), (5,12, 2)}

3

o3

11

10

11

olo|w|R|rw|H|Blw|d| ||| v|o|o| k| Bw|oo|o| s

100

15

[E
w

{(6,2,1),(6,3,1),(6,4,1),
(6,5, 1)}

{(6,6,5), (6, 7,3)}

{(6.,8,2),(6,9,3)}

{(6,10,5), (6,11, 2), (6, 12, 3)}

{(6,13,4), (6,14, 2), (6, 15, 2)}
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Table A.25 (Continued)

PT

in m tpijm

Epij

12 10

12

3 8

9

13

13

12

7

10

15

14

13

14

11

©

114

27

{(7,2,1),(7,3,1), (7,4, 1)}

{(7,5,1),(7,6,1)}

{(7,7,1),(7,8,1)}

{(7,9,1),(7,10,1), (7,11, 1)}

{(7,12,2),(7,13,3)}

{(7,14,3), (7,15, 4), (7, 16, 2)}

{(7,17,2), (7,18, 3)}

{(7,19, 3), (7, 20, 4)}

{(7,21,2),(7,22,2)}

{(7,23,2),(7,24,3)}

RPINOINROOW R O(FRO1

{(7, 25, 2), (7, 26, 3), (7, 27, 2)}
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Table A.25 (Continued)

PT

I

m

toijm

Epij

11

12

22

2

13

3

14

23

8

7

24

15

12

10

RN oO|w| o
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7

[E
w

8

26
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13

9
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Table A.26 Data of problem P26

PT

\]pi

toijm

Exij

88

2

7

{1,2,2),(1,3,4),(1,4,3),
(1,5,5),(1,6,5),(1,7,3),
(1,8,3)}

10

10

15

11

14

11

14

13

13

15

10

12

13

10
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Table A.26 (Continued)

PT

I

i

m

toijm

Epij

92

12

14

{(2,2,2),(2,3,4),(2,4,5),
(2,5,3),(2,6,5),(2,7,4), (2,8, 2),
(2,9,2),(2,10,3),(2,11,5),
(2,12,2)}

10

11

12

68

{33,2,2),(3,3,4)}

{3,4,4),3,5,3)}
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Table A.26 (Continued)

PT

I

m

toijm

Epij

4

8

7

10

11

13

15

81

11

{(4,6,2),(4,7,4)}

{(4,8,1),(4,9,5)}

{(4, 10, 3), (4,11, 3)}

10

11

48

12

{5,2,1),(5,3,1),(5,4, 1)}

{(5,5,3),(5,6,4)}

{(5,7,3),(5,8,3)}

{(5,9,2), (5,10, 2), (5,11, 4),
(5,12, 5)}
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Table A.26 (Continued)

PT Dp Np i in j m tpijm Epij
8 3 1 15 3
2 8 11
3 10 5
9 2 1 13 10
2 14 1
10 2 1 7 4
2 15 12
11 4 1 11 3
2 12 14
3 13 1
4 9 4
12 5 1 14 5
2 8 4
3 9 2
4 10 15
5 7 3
{(6,2,2),(6,3,2), 6,4 2),
c |l | 16| 1| 1] 1] 2| 13 6.5.2))
> [ 2 | 1 | 3 | 10 {(6.6.2).(6.7,3), (6,8, 2)}
2 15 4
3 | 2 | 1| 4| 5 {6.9,3), 6,10, 5)}
2 9 5
4 | 2 | 1 | 5 | 4 {6, 11, 4), (6, 12, 3)}
2 7 6
{6, 13, 2), (6, 14,3), (6, 15, 2),
5 | 2| 1|6 | 11 6,16, 3))
2 13 4
6 2 1 10 9
2 12 10
7 3 1 15 11
2 13 9
3 9 1
8 2 1 8 2
2 7 8
9 3 1 9 14
2 15 3
3 13 6
10 5 1 7 5
2 8 7
3 12 4
4 14 8
5 11 1
11 4 1 13 1
2 12 3
3 14 15
4 10 4
12 3 1 8 7
2 9 8
3 11 4
13 2 1 13 5
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Table A.26 (Continued)
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{(7,13,3), (7, 14, 2)}

{(7, 15, 2), (7,16, 2), (7, 17, 3)}

{(7,18,2),(7,19,4), (7,20, 3)}
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Table A.26 (Continued)

PT

Jyi

m

toijm

Epij

12

6

20

3

8

5

11

14
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13
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Table A.27 Data of problem P27

PT

I

m

toijm

Epij

64

1

3

8

{(1,2,3),(1,3,4),(1,4,3),
(1,5,5)}
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11

9

10

13

9
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8
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10
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7

11

= = =
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{(2,2,5),(2,3,3),(2,4,2),
(2,5,3),(2,6,4)}
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{33,2,5),(3,3,4),(3,4,2),
(3,5,3),(3,6,4),(3,7,5),
(3,8,2),(3,9,3)}




Table A.27 (Continued)
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Table A.27 (Continued)

PT Dp Np i in j m tpijm Epij
7 2 1 15 12
2 10 6
8 2 1 13 2
2 11 10
9 4 1 10 7
2 11 13
3 8 8
4 14 3
10 3 1 15 2
2 13 10
3 7 9
11 2 1 7 9
2 9 8
T |60 | 5 | 1 | L | 1] 1] 5 {5.2,1), 5 3,47}
> T 1 | 1] 2 | 7 {(5.4,5), (5,5, 3)}
3 4 1 7 11
2 11 3
3 14 5
4 9 2
4 5 1 12 9
2 7 4
3 9 6
4 10 7
5 13 2
5 3 1 8 12
2 11 3
3 15 1
T |40 | 9 | 1 | 1 | 1] 1|9 {6,2,1), 6,3, 4}
2 | 1 | 1| 2 | & {(6,4,1),(6,5,2)}
3 4 1 11 15
2 7 2
3 8 3
4 10 7
42 [ 1] 1] 3 | 5 {6.6,1),(6.7.3)}
5 2 1 12 9
2 9 6
6 | 1 | 1 | 4 | 7 {6.8,2).(6.9,3)}
7 3 1 14 4
2 8 14
3 12 1
8 2 1 7 13
2 13 2
9 3 1 10 3
2 11 1
3 15 11
T | 164 | 11 | 1 | 2 | 1 | 3 | 13 {7.2,1),(7,3,3)}
2 9 5
2 | 1 | 1 | 5 | 4 {74 2),(7,5 57}
3 3 1 14 11
2 7 3
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Table A.27 (Continued)

D, Np i Joi m toijm Eyi

13

4 2 2

{(7,6,1), (7, 7,3)}

12

5 5 15
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Table A.27 (Continued)

p PT | Dy Np i Jpi i m_ | ijm Epij
4 7 3
9 | C |52 | 122 ] 1 | 1| 1| 3 | 8 {0,2,2),(9,3.2), (9, 4 2)}
> 1 2 [ 1] 5 | 7 £9.5,5). 9,6, 2)}
2 9 3
3 [ 2 | 1| 6 | 10 {0.7.3),(9,8.4), (9,9, 2)}
2 12 2
4 | 2 | 1 | 2 | 6 | {010,2),0,1L5),(9, 12,27}
2 7 5
5 5 1 11 6
2 9 4
3 15 11
4 7 6
5 14 7
6 2 1 12 10
2 10 3
7 3 1 7 8
2 14 3
3 13 12
8 4 1 8 10
2 12 1
3 9 13
4 11 2
9 2 1 15 5
2 10 1
10 2 1 14 11
2 12 5
11 5 1 10 15
2 13 3
3 15 8
4 11 2
5 8 4
12 2 1 9 8
2 7 14
10| C |9 | 22 1 | 1 | 1 | 1 |10 {@021),0031), (10,4 1}
2 [ 1 | 1 | 6 | 7 {(10,5, 1), (10, 6, 1)}
3 1] 1 2 | 9 {(10,7,1), (10,8, 1)}
4 | 1 | 1 5 | 1 {(10,9, 1), (10, 10, 1)}
5 | 1 | 1 | 4 | 5 {(10, 11, 2), (10, 12, 3)}
6 | 1 | 1 | 3 | & {(10, 13, 3), (10, 14, 4)}
7 | 1 ] 1 | 1 | 3 {(10, 15, 2), (10, 16, 2)}
8 | 1| 1L | 5 | 8 {(10,17, 5), (10, 18, 2)}
o | 1 | 1 | 2 | 7 {(10,19, 3), (10, 20, 4)}
0] 1] 1] 6|5 {(10, 21, 3), (10, 22, 2)}
11 2 1 7 3
2 12 8
12 3 1 8 2
2 10 8
3 11 7
13 3 1 15 13
2 14 5
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Table A.27 (Continued)

PT

Jyi

m

toijm

Epij
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Table A.28 Data of problem P28

PT
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m

toijm

Epij
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{(1,2,4),(1,3,2),(1,4,4),
(1,5,3)}
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Table A.28 (Continued)
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(2,5,5),(2,6,2)}

9

11

8

13

9

7

14

9

13

10

15

7

11

9

12

8

NP OERWNRFRPWNRFPRWINFPINEFPIN P~

7

w Bk |o|Njw|slaB|r|wlo|o|vd NG

44

[EE

2

~

{3,2,2),(3,3,4),(3,4,3),
(3,5,5), (3,6,5),(3,7,3),
(3,8,3)}

7

8

10

10

9

15

11

9

7

14

11

14

7

13

8

13

15

9

10

7

9

8

12

13

10

WINFRP WINFRORIWIN P ORI WIN P WINRFRRWIN PN EFEIN

9

o[NP NGIRP|wo|K|w|lo|N|o|o| NG w| N w| o]~k oo

207




Table A.28 (Continued)

PT Dp Np i in j m tpijm Epij
{4.2,2), 3,4, @ 43),
4,5,3),(4,6,4),(4,7,2),
Flog |10 ] 12| 2|1 4| 14 (El, N 5))7 (51, N 4))’ (51, . 2))’
(4,11, 2)}
2 11 2
2 2 1 8 11
2 10 9
3 4 1 13 6
2 9 5
3 10 10
4 14 2
4 3 1 14 8
2 8 4
3 13 12
5 3 1 7 3
2 9 15
3 15 9
6 4 1 12 4
2 11 15
3 7 2
4 8 1
7 2 1 7 14
2 11 1
8 5 1 7 6
2 14 9
3 8 1
4 15 14
5 9 3
9 4 1 15 8
2 11 10
3 10 1
4 7 13
10 2 1 9 3
2 12 8
11 2 1 10 9
2 8 2
T |5 | 5 | 1 | 1 | 1 | 3 | 8 {5.2.2).5.3,5)7}
> [ 2 | 1 | 4 | 8 {(5.4,2),(5.5,3)}
2 8 3
3 5 1 15 2
2 14 9
3 7 4
4 12 6
5 10 1
4 2 1 9 12
2 13 5
5 3 1 11 8
2 8 7
3 14 3
T |64 | 9 | 1 | 1 | 1 | 5 | 11 {6.2,2), 6,3,5)7}
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Table A.28 (Continued)

D, Np i Joi m toijm Eyi

2 2 6 {(6,4,1),(6,5,3)}

14

3 5 15

7

13

9

10

1 {(6,6,2),(6,7,2)}

14

10
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2 {(6,8,4), (6,9, 2)}
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6

7
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2 {(7.6,2), (7,7, 4)}
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9
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8

4 {(7,8,2),(7,9,5)}
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1 {(7,10, 2), (7,11, 2)}
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Table A.28 (Continued)

D, Np i Joi m toijm Eyi

15 2

J
2
180 | 13 1 1 1 6 7 {(8,2,2),(8,3,5)}
2 2 1 5 6 {8,4,1),(8,5,3)}
2 12 6
3 5 1 13 | 10
2 10 | 13
3 14 3
4 8 2
5 9 5
4 1 1 4 13 {(8,6,2),(8,7,4)}
5 3 1 12 3
2 15 6
3 7 15
6 2 1 3 10 {(8,8,1),(8,9,2)}
2 8 3
7 4 1 9 7
2 7 3
3 13 1
4 11 9
8 1 1 2 8 {(8,10,2), (8,11, 2)}
9 2 1 14 | 12
2 10 9
10 2 1 1 5 {(8,12,3), (8, 13, )}
2 9 14
11 2 1 8 2
2 11 7
12 3 1 15 | 11
2 9 4
3 10 2
13 4 1 11 4
2 14 1
3 12 8
4 7 5
48 | 13 1 2 1 1 12 {09,2,1),(9,3,2), (9,4, 1)}
2 13 3
{(9,5,3),(9,6,4),(9,7,2),
2 1 1 4 9 9.8.3))
3 2 1 5 3 {09,9,2), 9, 10, 5)}
2 7 4
4 1 1 2 7 {(9,11,3), (9, 12, 2), (9, 13, 4)}
5 3 1 7 13
2 14 4
3 11 1
6 4 1 8 4
2 12 3
3 9 2
4 10 | 12
7 2 1 14 9
2 9 4
8 3 1 13 | 11
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Table A.28 (Continued)

p PT Do Np i Jpi J m toijm =
2 8 2
3 15 6
9 2 1 9 15
2 8 5
10 5 1 15 1
2 10 7
3 14 3
4 12 10
5 7 5
11 3 1 9 3
2 8 14
3 13 4
12 2 1 11 10
2 15 8
13 4 1 10 5
2 7 2
3 14 11
4 12 6
{(10,2, 1), (10, 3,2), (10, 4, 2),
10 C 53 17 1 2 1 4 10 (10,5, 2)}
2 8 5
2 | 1 | 1 | 5 | 8 | {(10.6,2).(10,7,3),(10.8.3)}
3 | 2 | 1 | 6 | 6 | {(10,9 3),(10,10,4), (10,11, 2)}
2 7 3
{(10, 12, 2), (10, 13, 2), (10, 14, 3),
4 | 2 | 1] 1|1 00,15 1
2 9 2
5 [ 2 | 1 | 2 | 3 {(10, 16, 5), (10, 17, 2)}
2 14 4
6 2 1 15 10
2 12 2
7 3 1 10 3
2 7 15
3 9 1
8 3 1 11 8
2 8 2
3 14 5
9 3 1 7 1
2 15 3
3 10 12
10 4 1 13 12
2 14 4
3 12 5
4 11 1
11 2 1 9 14
2 8 6
12 2 1 8 14
2 7 4
13 2 1 12 4
2 15 13
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Table A.28 (Continued)
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